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Question 1
Question Type: MultipleChoice

Your client has two inventory organizations (INV ORG 1 and INV ORG 2). The organizations have different business requirements for

stock locator control:

INV ORG 1:

Locators must have:

Building identified

Stockroom designated

Row

Rack

Bin

INV ORG 2:

Locators must have:

Row

Rack



Bin

Position within Bin

Which solution would meet both organizations' requirements?

Options: 
A) Establish stock locator flexfields as five segments. INV ORG 2 can use the first segment as Row.

B) Establish stock locator flexfields as four segments. INV ORG 2 can use DFF for Position within Bin.

C) Establish stock locator flexfields as five segments. INV ORG 2 can leave the fifth segment with a default value.

D) Establish stock locator flexfields as four segments. INV ORG 1 can create DFF and use that as Building identifier.

E) Establish stock locator flexfields as six segments. INV ORG 1 can create locators where the sixth segment can be a default value.

Answer: 
C
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